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Find the common ratio of each geometric sequence Then find the
next three terms in each geometric sequence.

1.1,4,16, 64, ... 2. 10,100, 1000, 10,000, ...

O, v o

_common fatio: l common ratio: 1O

dble 1024 HEYL LOOLO0, |EOBE00 4,
"~ 8. 128, 64, 32, 16, . . 4. 4, —-20, 100, =500, .

common ratio: _ -~ <~ common ratio: 6

8,0, 2

25065 N tvaa) gaSoo

5. The first ferm of a geometric sequence is 2 and the
- common ratio is 4. Find the 6th term.

pr = Q-O'—}Ypm

6. The first term of a geometnc sequence is —3 and the
common ratio is 2. Find the 8th term. |

Ovg = '5(’2) -

DoHg

7. The first term of a geometric secjuence ie 7 and the ‘
common raiio is 2 Find the 9th term.

\ 192

C/\qa7(2>ﬂ

‘8. What is the 5th term of the geometnc sequence

9, 27, 81, 243, . common ratio (ry:

3

first term (aj‘):

9.

Ow q(j‘

5th term:>

9. What is the 13th term of the geometrlc sequence

129
—3

—2,4, —8,16, . 3 common ratio (r);
1 &~ - -
: Q - (__g first term (ay): . — o)
\3> -
o 13th term: — 8 lqg
10. Martin got a job at a starting pay of $8.00 per hour. His boss told |
-him that if he works hard he can get a raise each year. The table -
shows Martin’s wage for the first few years. Find Martin’ s hourly Hourly
- wage after 6 years. Round to the nearest cent. | Year | Wage ($)
common ratio (r): l Z ' ; zggg yRI-2
" first term (a,): ' : xle
Lo\ 3 $11.52 .
6th term: QI C%\ - gOUZ) ‘
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Find the next three terms in each geometrlc sequence.

1. -5, —10, —20, —40, .. | . 2.7,56,448, 3584
| «go,-upq -320 - a&T) 229376, 135008
"3, ~10, 40, ~160, 640, ... 4. 40,10, 3, g
5 s .5
"R2OLO. 16240 H’-Jé(ﬂou 22 , 28 BIZ

5. The first term ofa geometrlc sequence is 6
and the common ratio is —8. Find the 7th term.

Oq= Y™ B |S7986Y

6. The first term of a greometric sequence is —3

and the common ra‘tlo 13 Flnd the 6th term.

| L -3
Q= ‘“3["“ - | =2
7. The first term of a geometnc sequence is —0.25 S
and.the common ratio is —3. Flnd the 10th term. . ‘ .

122V e s

Qie~0.25(-R)" 4930775

8. What is the 12th term of the geometric sequence i g
—4,-12,-36,..2 (=3 Q.=-Y4

Qo =4 (D - -To858K

9. What is the 10th term of the geometric sequence
2,-6,18,..2 0= 2 r=-3

Oh o = 5 (-2)> . -2926k

10. What is the 6th term-of the geomgtric sequence _ |
B0, 10, ; .2 X, 2 bof"“g— =

Ol 158

~11. A shoe store is discounting shoes each month.

A pair of shoes cost $80. The table shows the Month : Prics ‘:1
discount prices for several months. Find the cost ' ’ 1. ‘ $80.00 "_bxv
of the shoes aftemhs Round your answer 7 2 $72.00

to the nearest cent : ; 3 $64.80
OL=8x ¢= .4
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